1/32" ROUTE, SAND & POLISH AWA
FRONT OUTSIDE EDGES OF FRAME

@3/16" C/S
#8 F.H. X14

3/32" ROUTE, SAND & POLISH
AWA FRONT SIDE

@5/32" CIS
#6 F.H. X3

1/32" ROUTE AWA FRONT
SIDE OF WINDOW
12 5/8" (DO NOT SAND OR POLISH)

FRONT ISOMETRIC VIEW
(DRAWER SHOWN SEPARATED)

91/4"

3/4" —F

" PART LIST
R3/32" X2 T 11 174"
SECOND SHEET
BACK ISOMETRIC VIEW
(DRAWER SHOWN SEPARATED)
717132" [emms - XK 30 A
XXX % .010""
7 17 ey 7 [REV.|ECN #| DATE DESCRIPTION BY
COMPANY NAME: MODEL:
R1/32" X4 \j./‘\ R.J. DOUGHERTY ASSOCIATES 435 CC
—r 1/2" = ' TiTLe:  DRAWER, DRAWN BY: IURII CHICHETENKO | SHEET 1 OF 2
3/8" J Teak IS_le,Mfg- HELM CHECK BY: STEVE WIDMANN| SIZE DWG. A
SECTION A-A ;0(1) c;g::: .(,:°”"t COMPANY PART#: 1068601 DATE: 1/18/2016 SCALE:  NTS
Ocoee, Fla. 34761 |PART#: 181745-306377 [cabicam#: EVG1208-1211




12" 4»‘

8 3/4"

1/8" ROUTE THIS SIDE,
SHOWN BY HIDDEN LINES

@5/32" CIS
#6 F.H. X6

1/8" ROUTE TWO
LONGER TOP EDGES

3/32" ROUTE, SAND &
POLISH AWA BOTH SIDES

12 5/8"

%

7 1/32"
9 15/32"
79/16" \/
LEFT SIDE VIEW 9 47/64"
MATERIAL LIST BACK ISOMETRIC VIEW
IT# | PART # DESCRIPTION
A | 088-2302 |3/8" #7508 WHITE PLEXI, P. CAST
B | 088-2400 |1/2" WHITE PLEXIGLASS, P. CAST #7508
D | 134-1206 [1/2" POLAR WHITE STARBOARD 1 REQUIRED
PART LIST TOLERANCES - UNLESS OTHERWISE SPECIFIED
FRACTIONS +1/32"
IT# |QTY| PART # DESCRIPTION DECIMALS ;())((X :gfo
1 1 |040-3084 |[ESR-3813-8 DRAWER SLIDE HOLES @ XX =00
2 | 1 |068-3219 |LATCH, FLUSH, LOCKG, SS, 2" STELLAR COMPANY NAME. e
3 1 |076-3158 |WEATHER STRIP, T-SLOT SEAL, MEDIUM BLACK, L = 42" R.J. DOUGHERTY ASSOCIATES 435 CC
4 | 8 |116-0091 8-32 X 1/4" LOCK NUT " @_ DRAWN BY: IURII CHICHETENKO | SHEET 2 OF 2
5 | 9 |118-0981|#6 X 3/4" F.H. SCREW Teak lsle. Mf TirLe:  DRAWER, : £OF £
6 | 18 1116-0604 |#6 X 1" P.H. SCREW ea sle, g-|HELM CHECK BY: STEVE WIDMANN|SIZE DWG. A
— 401 Capitol Court
7 8 |116-0803 |#8 X 1" F.H. SCREW P.O. Box 417 COMPANY PART#: 1068601 DATE: 1/18/2016 SCALE: NTS
8 | 8 |116-1107 |8-32 X 1/2" PANHEAD MACHINE BOLT Ocoee, Fla. 34761 |PART#: 181745-306377 [capbicam#: EVG1208-1211




	Sheets and Views
	14277-PD-SHEET 1
	14277-PD-SHEET 2


